FIBONACCI Iterativo e Recursivo

fib (n) =

sen = lentao0
sen = 2entao 1

sendo fib(n —2) + fib(n—1)

int fib ite (int n) {
int menos dois= 0;
int menos um = 1;
int corrente;

int 1i;
if (n==1)
else if
else {
fo

return O;
(n==2) return 1;

r (i=3; 1i<=n; 1i++) {
corrente = menos um + menos dois;
menos dois = menos_um;
menos um = corrente;

}

return corrente;

int fib rec (int n) {

if (n==1)

return 0;

else if (n==2) return 1;
else return (fib rec (n-2)+fib rec (n-1));

}

#define MAX 11

#include <stdi
int main () {
int 1i;

printf ("I

for (i=1;

o.h>

terativo:\n");
i<=MAX; i++) printf ("%d\n", fib ite(i));

printf ("\n");
printf ("Recursivo:\n");

for (i=1;
return O;

i<=MAX; i++) printf ("%d\n", fib rec (i));



